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)

> Diffusion of N particles

)

data 1,0, 0,1, -1,0, 0,-1

color 0,15:cls:X0=320:Y0=200

gosub *RNTIME

N=5000:LY=0.3:MN=50

for K=1 to 4:read DX(K),DY(K) :next
dim X(N),Y(N),P(MN)

for I=1 to N:X(I)=0:Y(I)=0:next
1line(100,350)-(100+MN*5+5,100),,1,b

*BUNPU

for I=1 to N

R=sqr (X(I)"2+Y(I)~2) :MR=int (R)
if MR>MN then MR=MN
P(MR)=P(MR)+1

next

for J=0 to MN
line(100+J%5,350)-(100+J*5,350-P(J)*LY), ,5
next

locate 1,3:print

for J=0 to MN:J1=J+1
ER1=exp(-J~2/M) :ER2=exp (-J172/M)

M=0 0 PJ=int (Nx(ER1-ER2)+0.5)
10 M=M+1:if M mod 50=0 then gosub *BUNPU circle(100+J%5,350-PJ*LY),2,3
for I=1 to N next

K=int (4*rnd (1)+1)
XX=X(I)+DX(K) : YY=Y(I)+DY (K)
X(I)=XX:Y(I)=YY

locate 1,1:print "T=";M;"steps"
input "hit any key";a$
for J=0 to MN:J1=J+1

next ER1=exp(-J~2/M) :ER2=exp (-J172/M)
goto 10 PJ=int (N* (ER1-ER2)+0.5)
*RNTIME circle(100+J%5,350-PJ*LY),2,15
T=time:T2=T mod 65534:TR=T2-32767 1ine(100+J%5,350)-(100+J*5,350-P(J)*LY), ,15
randomize TR P(J)=0
return next

return
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